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E36-19  (a) When the switch is just closed there is no current, through the inductor. So iy = iy is
gven by £ (100V)
=& ___U0OV) g3
B+ By (100) + (209)
(b) A long time later there is current through the inductor, but it is as if the inductor has no
effect on the cireuit. Then the effective resistance of the circuit is found by first finding the equivalent
resistance of the parallel part

i

1/(309) +1/(209) = 1/(129),
and then finding the equivalent resistance of the cireuit,
(109) +(120) = 20.
Finally, iy = (100V)/(229) = 455 A and
AVy = (100V) - (455A)(109) = 545V;

consequently, iy = (54.5V)/(2002) = 273 A. Tt didn’t ask, but iz = (4.55A) — (2.73A) = 1.82A.
(¢) After the switch is just opened the current through the battery stops, while that through the
inductor continues on. Then iz = is = 1.82A.
(d) All go to zero.





